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+* Questionl:

GIORGIO ARMANI Ltd. produces two types of clothing items: T-shirts and Jeans. The company
uses Activity-Based Costing (ABC) with three activity cost pools. It expects to produce 1,000 units
of T-shirts and 500 units of Jeans.

*  The following data relate to annual overhead costs and expected use of cost drivers:

Annual Overhead Data Expected Use of Cost Drivers per Product
Activity Cost Cost Drivers Estimated Overhead | Expected Use of Cost Drivers per Activity | T-shirts | Jeans
Pools
Machine Setup ( Setups} - - 30 E 10
Machining (\Machinehc)ﬂ 30000 4 1000 300 700
Packing Orders 6000 == 200 80 120
a) Calculate the overhead@per cost driver for each activity: E qA.e C_OJ' —,—
® Aceo activi
) Rede M"‘C{"kt“"f’ 3— 1306/5&""‘{- ;M‘(
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o< Mackn g
@ E M [/[/\ll/\[‘n - Scae _ ‘SO/NG\CL\ H
f=""w) :
Q@ Fale pack . boce = ASSigned | Pafe
=60 KO/O\"A@\/‘- Blloccded| | X

h activity’s overhead cost to the two products by completing F\?Pl/ieol © | adiviz

the following schedule.

Activity Cost Pools Cost ssig@o T-shirts Cost @ssigned Yo Jeans
Machine Setup 300 X 20 4666586 oo X (O = SO0 al 05’6}
Machining Lo KZso =B 3o XYoo =\ oo

Packing SoX 3o =@Noo) | 35 [20=(360s) |gaaas
Total Assigned Cost ( | 300) dq-éo Y S‘m
N— Ss—e— >

c¢) Compute the overhead @ r each product.

e T-shirts. \'}qoo — \OGQ =\ /T—S\".W‘&
* Jeans. 7’q_éog — Soe = S'§2/J'cq“5
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+* Question2:
GIORGIO ARMANI Ltd. produces two types of clothing items: T-shirts and Jeans. The
company uses Activity-Based Costing (ABC) with three activity cost pools. It expects to

produce 1,000 units of T-shirts and 500 units of Jeans.

—
* The following data relate to annual overhead costs and expected use of cost drivers:

Annual Overhead Data Expected Use of Cost Drivers per Product
Activity Cost Pools | Cost Drivers Estimated Overhead | Expected Use of Cost Drivers per Activity | T-shirts Jeans
Machine Setup Setups - . 27 11
Machining Machine hours 117,415 5,105 1,144 3,961
Packing Orders 23,358 458 178 280

¢ Instructions
Using the above data, do the following:

1. Calculate the overhead rate per cost driver for each activity.

a. Machine Setup overhead rate. \‘}‘Lﬂb = B = /S('\'Vfo
b. Machining overhead rate. — I}YIS ~ SleS = / Mach H

c. Packing overhead rate. . —
,ESII. :V ~ 23358 = HUSR ‘@/orcler,

—-‘_—S‘A'ur 3_66?145
Macl. seb CUSSx2y) (USS® W)
12238 + Sl = (ES
Maghing (23 %X \YY) (23x3ALL)
7267\ + o2 _ @iy
Pocki,, (SIX\3%) (S) x2%0).
Qo3 + \U 28 LSSSK
UNLrs + 10388 )

Q) (oSt fnid W36as \o33R

|65 Soo
43, S 20733,
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+* Question 3: . _\_
Uny
What effects will aj increase in the level of activity have on the following costs?

Total Variable Costs 1"‘(0{ av ?ﬁ?o\:k'\ “"*’19' Variable Cost per unit Ropnqiing Brktad.
Total Fixed Costs ﬁEN et CONS 'l'ov&: Fixed Cost per unit O(QCKQSC.

_ TiCreas buk net Prph,, MREHCSSTRETBREIIIND | decreate.

+ Solution:

o
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+* Question 4:

A, WLiread s

Units produced and sold

1,000 2,000 3,000
Total costs:
Variable cost @ 50003 \ 6000 \Swo
Fixed cost ( 6000 ) L;pé&o L:m .
Total costs 11000 t beeo 2\o00o
Cost per unit:
Variable cost S S S
Fixed cost GWD;[Q]) = é é?O(JO%MZZ (’ﬂ!”'?ﬂ) =2
Total cost per unit \( g >

< Solution:
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+* Question 5:

Samsung Company’s CVP income statement for the most recent month is shown below:

Total Per Unit
Sales (10000 units) | $100,000
Variable costs 60,000 _3
Contribution margin 40,000 4
Fixed costs <€5,006>
_—
Net income 5,000

The management plans to applyﬁiscount on selling price by $S1 per unit .the marketing
department predicts that this disco;—-t increase the number of units sold b
With consideration to these changes

¢ Instructions

Prepare the new CVP income Statement. {ﬂjc (\Oab X‘

+ Solution:

Chawnge - \)C ((ooa)x L) 6o ooe
@ sp=te\ =@ CM (locosx U\’} Uoos .
l —
Ch [‘Z:::g_ f::o Fe 3So00

NT Soos -

New CO P.
dec ve (o7,

Tx =) 5416. (IS’oooX@ 135S coo
L-0D - £ v

) VC (1Sa00x ) Aceco
ec Sp UL
T loxYey, = K M Ysoos

lo -y _@ — —
Fc 2S00
InC sp 207, —
|1oR2s7 = 2 f‘ N.L \0030
l6e+2 = 12
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<+ MCQ:
1. Ordering materials, setting up machines, assembling products, and inspecting products
are examples of T “"“j‘ e

Non-manufacturing activities. =R R g o

o v

Overhead activities cost pools.

Number

Direct labor costs.

a o

Cost drivers.

2. One of IKEA Company’s activity cost pools is inspecting, with estimated overhead of
$180000. IKEA produces throw rugs (700 inspections) and area rugs
(1300 inspections). How much of the inspecting cost pool should bo throw

rugs? (ot 180000 =
oo O R gty ©

s90000. (D) .
aXis Twou =@e = 6Reco
d. $180000. ,3 e q ¥ 3oo é;s .
=)
chi%:
3. Regarding thejrelevant rangel, which of the following is correct? ‘ “

It is the range over which a company expects to operate during a year.

b. Within the relevant range, the total fixed costs will remain constant.

c. It shows the maximum capacity that if the company exceeds, the total fixed costs will
change.

d. All of the above.
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4. Vaughn Manufacturing has two divisions; Sporting Goods and Sports Gear. The sales mix
is 70% for Sporting Goods and 30% for Sports Gear. Vaughn incurs $6760000 in fixed
costs. The contribution margin ratio for Sporting Goods is 30%, while for Sports Gear it
is 50%. The weighted-average contribution margin ratio is

a. 60%

b 44% Spow Goeds @/, X R84 =

¢ 40% Spek ev  Tep Se) =

d.)36%

@ KCp Lorges

27, -1

5. Which of the following costs are variable?
Cost 10,000 Units UnltiD 30,000 Units Umt_D
1.9\C $100,000 ‘ $300,000 ‘
2. M ¢ 40,000 # 100,000 @
3. ¢ 90,000 @ 90,000
4. \)C 50,000 @ 150,000 @

a. only1l

b. only 2

c¢. land4

d 1,2,and 4

6. Delivery costs at SMSA Express appear below for specific months of operations:

Month Amount Units Produced
March $20,000 == | 16,000 units
April $18,000 > 112,000 units 1S

Which type of cost are delivery costs at SMSA Express?
a. Variable costs.
b. Mixed costs.

c. Unable to determine the answer without more information.

o

Fixed costs.

8
Sl s V) gt 5l Lt s s cra sl Jlae ) a8 5al i s 3 sl gaen




gJ? > /i’
A /()

BEUSINESS SKILLS CENTER

7. GREE A/C Company recorded the following production data over a six-month period:
Using the high-low method, what is the estimated total cost equation for monthly

production?

Month Units Produced Total Cost (S)

January 4 2,400

February 7 3,000

March 5 2,600

April 6 2,800

May 9 3,500

June 3 2,000

Y=$1250+$250X Hela= Z;w = “b
b. ¥ = $600 + $320X Fe = 3500 —(zsoxq) _T7e
Y = $1,100 + $270X 2000 — (250x3) = [I250-

d. Y =3900 + $290X | Y = 1260 +250 X |

8. Sales are $100,000 and variable costs are $60,000. What is the contribution margin

ratio?

@ 0% Sale 000D
b. 60% Oc¢ boaw  CM/. -qnouc: Xlo>
[o)
35% M Tooam —y
d. Cannot be determined because amounts are not expressed per unit. =\o/.

a

9. A company sells a single product for $20 per unit. The variable cost is $8 per unit, and

fixed costs are $24,000. What is the break-even poi
a. 1,200 units $p=20 N _ @
(®) 2,000 units e = R *CMiu=20-3
c. 3,000 unfts FC: 'Z(au K?f - ?__3_”_" - 2e0m
(2

d. 4,000 units
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10. A company sells a product for $20 per unit. The(variable cost ratio is 60%, ang/fixed

costs are $8,000. What is the break-even point in sales dollars?

(2) $20,000 < P ~oq =<

b. $12,000 UC = Loy X‘?e"l _ Rooo
c. $8,000 - ' 6=/2 )?E?ﬁ__
d. $16,000 Fc = 2o Yors.

D VoYa s’ aY

11. A company sells its product for $12 per unit. Fixed costs are $400,000 arfd variable cost

is $8 per unit. How many units must be sold to earn a net income of $80,000?

a. 50,000 units < > CM IV\ - IK-—Z =

c. , units
. NI =Zoaoe -
d. 100,000 units e~ T {000 +8000_ 15 40
= “twu . @ =1 Y

12. PlayStation 5 Corporation sells a single product for er unit. The company reports

the following: g ,
'k Current sales: 39,40 P

* Break-even sales: 35,066 @
What is the margin of safety in %

. $5,122,000
b. $4,558,580 M& S'ld.e —_ ZEP = |[Mo¢ wd
c. $3,414,667 29Yoo ~ TS04L = ‘gzq
) $563,420 X

)%o YZo iSo 3?
& S@Z'D S’éI’C{'ze

MOS Ve

L nd

AU Sile 2q40e

Uy _ °/ O};‘ Sale —-[?f'f’:gqqm_mu
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13. A company has a unit contribution margin of $20 and a contribution margin ratio of

50%. What is the selling price per unit? CM z - CM A
a. S30 SP'
b. $20 .
@ $40 YO/ = ._7'_0—-
d. $10 A
SO/ X =29 | C
Sex Sa
14. The main function of the'contribution margin is to cover:
a. Direct costs )< = "tb y
b. Variable costs
c. Fixed costs
d. Mixed costs

CM7. XSSP =Cmyqg

%KSL:E_
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